The group G is isomorphic to the group labelled by [ 48, 33 ] in the Small Groups library.
Ordinary character table of G = ((C4 x C2) : C2) : C3:

la 4a 3a 4b  2a 12a 2b 4c 3b 6a 120 12¢ 60 12d
X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
X2 1 —1 1 1 1 —1 —1 —1 1 1 —1 —1 1 —1
xs | 1 —1 EB? 1 1 -E@3? -1 -1 EB)  E@B)?  —E(3) —-E3)?* E@B) -E(@3)
xa | 1 -1 E(3) 11 -E@3) -1 -1 E(3)? E@B) —E(3)? —-E(3) E(3)? —E3)?
xs | 1 1 EB? 1 1 E@? 1 1 EB3) EGB3)?  E@3) EB3)? EB3)  E(3)
xe | 1 1 EGB) 1 1 E(3) 1 1 E(3)? EB)  E(3)? E(3)  E(3)? E@3)?
xr |2 —2xEM4) -1 0 -2 EM4) 0 2«B4) -1 1 E(4) —E(4) 1 —E(4)
xs | 2 2xE(4) -1 0 -2 —-E@4) 0 —-2xE(4) -1 1 —FE(4) E(4) 1 E(4)
Xo | 2 —2xEM4) —-EB) 0 -2 E(12)7 0 2xE@4) -E@B3)* EB) E12) -FE12)" E@3)? —-E(12)"
x| 2 —2xE@) —E@3)? 0 -2 E12Y 0 2+E4) -E@B) E@)? E127 -E(12Y E@B) -EBQ12)
x| 2 2+xE@4) -EB) 0 -2 -E12)7 0 -2«E4) —E(3)? EB) —-E12Y E12)7 E@B)? E12)U
xi2 | 2 2xE(4) —-E3)?% 0 -2 —-E(12)' 0 -2%xE(4) —-EB) EB)? -E(12)" E(12)Y E@3) E(12)7
X3 | 3 -3 0 -1 3 0 1 -3 0 0 0 0 0 0
x| 3 3 0o -1 3 0 ~1 3 0 0 0 0 0 0
Trivial source character table of G = ((C4x C2) : C2) : C3 at p=2:
Normalisers .ZVZ N1 N2 N3 N4 N5 N6 N7 Ng Ng N10
p-subgroups of G up to conjugacy in G P P P P, Ps | Ps P P | P Pio
Representatives n; € N, la 3a 3b la 3a 3b la | 1la 3a 3b la | la | la 3a 3b la | 1a | la 3a 3b
1-x1+1-x2+0-x3+0-x4a4+0-x5+0-x6+0-x74+0-xg+1-xo+1-x10+1-x11+1-x12+1-x13+1-x14]|16 4 4 0 0 0 010 0 0 01010 0 0 01010 0 0
0-x1+0-xo+1-x34+0-xa+1-x5+0-x6+1-x7+1-xs+1-xXo+0-x10+1-x11+0-x12+1-x13+1-x14|16 4xE3)2 4xE@3) | 0 0 0 010 0 0 0] 010 0 0 0] 010 0 0
0-x1+0-x2+0-x3+1-xa+0-x5+1-x6+1-x7+1-xs+0-xo+1-x10+0-x11+1-x12+1-x13+1-x14 |16 4%xEB) 4xE@3)?| 0 0 0 010 0 0 0l01|O 0 0 0|l0]O0 0 0
1-x14+1-x24+0-x34+0-x4+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+1-x13+1-x14| 8 2 2 3 2 2 010 0 0 0] 010 0 0 0] 01O 0 0
0-x14+0-x24+0-x3+1-xa+0-x5+1-x6+0-x7+0-xs+0-x0+0-x10+0-x114+0-x12+1-x13+1-x14| 8 2xE3) 2xE(3)*| 8 2xE@B3) 2+«EB)?*| 0|0 0 0 0] 010 0 0 0] 010 0 0
0-x1+0-x24+1-x3+0-xa+1-x5+0-x64+0-x7+0-xs+0-x0+0-x10+0-x11+0-x124+1-xi3+1-x14 | 8 2xE@B)? 2+E@3) | 8 2xE(3)> 2xE@B) | 0|0 0 0 0107160 0 0 01070 0 0
1-x1+0-x2+0-x3+0-xa+1-x5+1-x6+1-x7+1-xs+1-xo+1-xw0+1-x11+1-x12+2-x13+1-x14 |24 0 0 0 0 0 4 10 0 0 0] 010 0 0 0] 010 0 0
1-x14+0-x2+0-x3+0-x44+0-x5+0-x6+0-x74+0-xs+0-Xxo0+0-x10+0-x11+0-x12+0-x13+1-x14| 4 1 1 4 1 1 0|4 1 1 01010 0 0 0|00 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+1-X64+0-x7+0-xs+0-x0+0-x10+0-x11+0-x124+0-x13+1-x14 | 4  E(3) E@B)? |4 E@3) EB)? | 0|4 E@B) E@B2 0]0/|0 0 0 ojo0jr0 0 0
0-x1+0-x24+0-x3+0-xa+1-x5+0-x6+0-x7+0-xs+0-x0+0-X10+0-x11+0-x12+0-xa3+1-x1a | 4  E(3)? E(3) 4 E@3)? E(3) 04 EB?* EB |[0]0]O0 0 0 010710 0 0
l-x14+1-x24+1-x34+1-xa+1-x5+1-x6+0-x7+0-xs+0-x90+0-Xx10+0-x11+0-x12+1-x13+1 -x14 |12 0 0 12 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0
1-x14+0-x24+0-x34+0-x4a+1-x5+1-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+2-x13+1 x14 | 12 0 0 12 0 0 410 0 0 0 410 0 0 0 010 0 0
1-x14+1-x24+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-x90+0-x10+0-x11+0-x124+0-x13+0-x14 | 2 2 2 2 2 2 0 0 0 0 2 0 2 2 2 0 0 0 0 0
O-x14+0-x2+1-x3+0-x4+1-x5+0-x64+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14| 2 2*E(3)2 2*E(3) 2 2*E(3)2 2*E(3) 0 0 0 0 2 0 2 2*E(3)2 2*E(3 0 0 0 0 0
0-x1+0-x24+0-x3+1-xa+0-x5+1-x6+0-x7+0-xs+0-x04+0-X10+0-x11+0-x12+0-x13+0-x14 | 2 2xE(3) 2xEB)?| 2 2xFE@B3) 2xE@3)>| 0 | 0 0 0 2 [0 ]2 2xEB) 2xE@3)*[0]0]0 0 0
1-x1+0-x2+0-x3+0-xa+1-x5+1-x6+0-x74+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+1-x14| 6 0 0 6 0 0 2 6 0 0 2 2 0 0 0 2 0 0 0 0
1-x1+0-x2+0-x3+0-xa+1-x5+1-x6+0-x74+0-xs+0-xo+0-x10+0-x11+0-x12+1-x13+0-x14]| 6 0 0 6 0 0 4 10 0 0 21410 0 0 0 210 0 0
1-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-x90+0-Xx10+0-x114+0-x12+0-x13+0-x14| 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0-x1+0-x2+0-x34+0-xa+1-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-x34 | 1 E(3)? E(3 1 E(3)? E(3) 1|1 EB? EB | 1|11 E(3)? E(3 1| 1|1 EB?* E®B3
0-x14+0-x24+0-x3+0-xa+0-x5+1-x6+0-x7+0-xs+0-x0+0-x10+0-x11 +0-x12+0-x13+0-x14 | 1 E(3) EB3)? |1 E@3) EB3? |11 EB EGB*| 1|11 B3 E@3? |1 ]1]1 E@ E@3?
Py = Group(()]) = 1
Py = Group([(1, 6)(2, 10)(3, 14)(4, 16) (5, 17)(7, 21)(8, 23)(9, 24) (11, 27) (12, 29) (13, 30) (15, 31) (18, 34)(19, 36) (20, 37)(22, 38) (25, 40)(26, 41) (28, 42)(32, 44) (33, 45)(35, 46) (39, 47) (43, 48)]) =
= Group([(1,24)(2,5)(3,37)(4, 38)(6,9)(7, 13)(8, 15)(10, 17)(11, 45) (12, 46) (14, 20)(16, 22) (18, 26)(19, 28) (21, 30)(23, 31) (25, 48)(27, 33) (29, 35)(32, 39) (34, 41) (36, 42) (40, 43) (44, 47)]) =
Py = Group([(1,6)(2,10)(3,14)(4, 16)(5, 17)(7, 21)(8, 23)(9, 24) (11, 27) (12, 29) (13, 30) (15, 31) (18, 34) (19, 36) (20, 37)(22, 38) (25, 40)(26, 41) (28, 42)(32, 44) (33, 45)(35, 46) (39, 47) (43, 48), (1, 2, ,10)(3,7, 14, 21)(4, 8,16, 23) (5,9, 17, 24)(11, 18, 27, 34) (12, 19, 29, 36) (13, 20, 30, 37)(15, 22, 31, 38) (25, 32, 40, 44) (26, 33, 41, 45)(28, 35, 42, 46)(39, 43, 47, 48)]) = 04
— Group([(1,6)(2, 10)(3, 14)(4, 16)(5, 17)(T, 21)(8, 23)(9, 24)(11, 27)(12, 20)(13, 30)(15, 31)(18, 34)(19, 36)(20, 37)(22, 38)(25, 40) (26, 41)(28, 42) (32, 44) (33, 45) (35, 46) (30, 47) (43, 48), (1, 17, 6, 5) (2, 24, 10, 9)(3, 30, 14, 13)(4, 31, 16, 15)(7, 37, 21, 20)(8, 38, 23, 22) (11, 41, 27, 26)(12, 42, 20, 28) (18, 45, 34, 33) (19, 46, 36, 35) (25, 47, 40, 30) (32, 48, 44. 43)])
Py = Group([(1,6)(2,10)(3, 14)(4, 16)(5, 17)(7, 21)(8, 23)(9, 24)(11, 27)(12, 29) (13, 30)(15, 31)(18, 34) (19, 36)(20, 37)(22, 38) (25, 40)(26, 41)(28, 42) (32, 44) (33, 45) (35, 46) (39, 47) (43, 48), (1, 24)(2, 5)(3, 37) (4, 38) (6, 9)(7. 13)(8, 15) (10, 17)(11, 45)(12, 46) (14, 20) (16, 22)(18, 26)(19, 28) (21, 30)(23, 31)(25, 48) (27, 33)(29, 35)(32, 39) (34, 41)(36, 42) (40, 43) (44, 47)]) ~ (02 x (2
Pr = Group([(1,6)(2,10)(3. 14)(4, 16)(5, 17)(7, 21)(8, 23)(9, 24) (11, 27)(12, 20) (13, 30) (15, 31) (18, 34) (19, 36) (20, 37) (22, 38) (25, 40) (26, 41) (28, 42) (32, 44) (33, 45) (35, 46) (39, 47) (43, 48, (1, 17, 6, 5)(2, 24, 10, 9)(3, 30, 14, 13)(4, 31, 16, 15)(7, 37, 21, 20)(8, 38, 23, 22)(11, 41, 27, 26) (12, 42, 29, 28) (18, 45, 34, 33)(19, 46, 36, 35) (25, 47, 40, 39) (32, 48, 44, 43), (1, 31,6, 15)(2, 38, 10, 22)(3, 42, 14, 28) (4, ,16, 7)(7,46,21,35)(8,9, 23, 24)(11, 47,27, 39)(12, 13, 29, 30)(18, 48, 34, 43)(19, 20, 36, 37) (25, 26, 40, 41)(32, 33, 44, 45)]) = Q8
— Group([(1,6)(2, 10)(3,14)(4, 16)(5, 17)(T, 21)(8, 23)(9, 24)(11, 27)(12, 20)(13, 30)(15, 31)(18, 34)(19, 36)(20, 37)(22, 38) (25, 40) (26, 41)(28, 42) (32, 44) (33, 45) (35, 46) (39, 47) (43, 48). (1,2, 6, 10)(3, 7, 14, 21)(4. 8, 16, 23)(5, 9, 17, 24)(11, 18, 27, 34) (12, 19, 29. 36) (13, 20, 30, 37)(15, 22, 31, 38)(25. 32, 40, 44) (26, 33, 41, 45)(28, 35, 42, 46) (39, 43, 47, 48), (1., 1 6,15)(2,38,10,22)(3,42,14,28)(4, 5,16, 17)(7, 46,21, 35)(8,9, 23, 24)(11, 47,27, 39) (12, 13, 29, 30) (18, 48, 34, 43)(19, 20, 36, 37)(25, 26, 40, 41)(32, 33, 44, 45)]) = C4 x C2
= Group([(1,6)(2,10)(3,14)(4,16)(5,17)(7,21)(8,23)(9,24)(11,27)(12,29)(13, 30)(15,31)(18,34)(19, 36)(20, 37)(22, 38)(25, 40)(26, 41)(28, 42)(32, 44)(33,45)(35 46)(39 47)(43,48), (1,24)(2,5)(3,37)(4, 38)(6,9)(7,13)(8,15 )(10,17)(11,45)(12,46)(14,20)(16,22)(18 26)( 9,28)(21, 30)(23,31)(25,48)(27, 33)(29, 35)(32,39)(34 41 )(36,42)(40 43)(44 ) (1,31,6,15)(2,38,10,22)(3,42, 14,28)(4,5,16,17)(7,46, 21 35)(8 9,23,24)(11,47,27,39)(12, 13, 29, 30)(18, 48, 34, 43)(19, 20, 36, 37)(25, 26, 40, 41)(32, 33, 44,45)]) = D8
P10 — Group([(1,6)(2, 10)(3, 14)(4, 16)(5, 17)(7, 21)(8, 23)(9, 24) (11, 27)(12, 20)(13, 30) (15, 31)(18, 34)(19, 36) (20, 37) (22, 38) (25, 40) (26, 41)(28, 42) (32, 44)(33, 45) (35, 46)(39, 47)(43, 48), (1, 2.6, 10)(3, 7, 14, 21)(4, 8, 16, 23)(5,9, 17, 24) (11, 18, 27, 34)(12, 19, 20, 36)(13, 20, 30, 37) (15, 22, 31, 38) (25, 32, 40, 44)(26, 33, 41, 45)(28, 35, 42, 46)(39. 43, 47, 48), (1, 17, 6, 5)(2, 24, 10,9) (3, 30, 14, 13)(4, 31, 16, 15)(7, 37, 21, 20)(8, 38, 23, 22) (11, 41, 27, 26) (12, 42, 29, 28)(18, 45, 34, 33)(19, 46, 36, 35) (25, 47, 40, 39)(32, 48, 44. 43), (1, 31, 6, 15)(2, 38, 10, 22)(3, 42, 14, 28) (4, 5, 16, 17)(7, 46, 21, 35)(8, 9, 23, 24) (11, 47, 27, 39)(12, 13, 20, 30)(18, 48, 34, 43) (19, 20, 36, 37) (25, 26, 40, 41)(32, 33, 44, 45)]) = (C4 x C2) : C2
Ny = Group([(1,2,6,10)(3,7, 14, 21)(4, 8,16, 23)(5,9, 17, 24)(11 18,27,34)(12, 19, 29, 36)(13, 20, 30, 37) (15, 22, 31, 38)(25, 32, 40, 44)(26, 33, 41, 45)(28, 35, 42, 46)(39, 43, 47, 48), (1,3, 11)(2, 7, 18) (4, 13, 39)(5, 28, 25) (6, 14, 27)(8, 20, 43) (9, 35, 32) (10, 21, 34) (12, 26, 15)(16, 30, 47) (17, 42, 40)(19, 33, 22) (23, 37, 48)(24, 46, 44)(29, 41, 31)(36, 45, 38), (1,4, 6, 16)(2, 8, 72 )(3,12,14,29)(5, 3 ,17, 5)(7,19, 21, 36)(9, 38, 24, 22)(11, 25, 27, 40)(13, 42, 30, 28) (18, 32, 34, 44)(20, 46, 37, 35) (26, 47, 41, 39) (33, 48, 45, 43), (1, 5,6, 17)(2, 9, 10, 24)(3, 13, 14, 30) (4, 15, 16, 31)(7, 20, 21, 37)(8, 22, 23, 38) (11, 26, 27, 41) (12, 28, 29, 42) (18, 33, 34, 45)(19, 35, 36, 46)(25, 39, 40, 47)(32, 43, 44, 48), (1, 6)(2, 10)(3, 14) (4, 16) (5, 17)(7, 21)(8, 23)(9, 24) (11, 27) (12, 29) (13, 30) (15, 31) (18, 34) (19, 36)(20, 37)(22, 38) (25, 40) (26, 41) (28, 42) (32, 44) (33, 45)(35, 46) (39, 47) (43, 48)]) = ((C4 x C2) : C2) : C3
N = Group([(1,2,6,10)(3.7, 14, 21)(4.8, 16, 23)(5.9. 17, 24)(11, 18, 27, 34) (12, 19, 29, 36)(13, 20,30, 37)(15. 22. 31, 38) (25, 32, 40, 44)(26, 33, 41, 45)(28, 35, 42, 46)(39, 43, 47, 48). (1,3, 11)(2, 7. 18)(4, 13, 39) (5. 28, 25)(6. 14, 27)(8, 20, 43)(9. 35, 32) (10, 21, 34) (12, 26, 15)(16, 30, 47)(17, 42, 40)(19, 33, 22) (23, 37, 48) (24, 46, 44) (29, 41, 31)(36, 45, 38), (1.4, 6, 16)(2, 8, 10, 23)(3, 12, 14, 20)(5. 31, 17, 15)(7, 19, 21, 36)(9, 38, 24, 22) (11, 25, 27, 40) (13, 42, 30, 28)(18, 32, 34. 44)(20. 46, 37, 35) (26, 47. 41, 39)(33, 48, 45, 43). (1. 5,6, 17)(2, 9. 10, 24)(3, 13, 14, 30) (4, 15, 16, 31)(7. 20, 21, 37)(8, 22. 23, 38) (11, 26, 27, 41)(12, 28, 20, 42) (18, 33, 34, 45) (19, 35, 36, 46 (25, 39, 40, 47)(32, 43, 44, 48), (1, 6)(2, 10)(3, 14)(4. 16)(5, 17)(7, 21)(8,23)(9, 24)(11, 27)(12, 20)(13,30)(15. 31)(18, 34)(19, 36)(20. 37)(22, 38)(25. 40) (26, 41) (28, 42)(32, 44) (33, 45) (35, 46) (39, 47)(43, 48)]) = ((C4 x C2) : C2) : C3
N3 = Group([(1,24)(2,5)(3,37)(4, 38)(6,9)(7,13)(8,1 5)( ,17)(11,45)(12,46)(14,20)(16, 2 )(18 26)( 9, 28)(21 30)(23,31)(25,48)(27, 33)(29, 35)(32,39)(34,41)(36, 42)( 0,43)(44,47),(1,2,6,10)(3,7,14,21)(4,8,16,23)(5,9,17,24)(11, 18, 27, 34)(12, 19, 29, 36)(13, 20, 30, 37) (15, 22, 31, 38) (25, 32, 40, 44)(26, 33, 41, 45) (28, 35, 42, 46) (39, 43, 47, 48) (1,6)( , )(3, 4)(4,1 )(5 17)( ,21)(8,23)(9,24)(11,27)(12,29)(13,30)(15,31)(18,34)(19, 36)(20, 37)(22, 38)(25, 40) (26, 41)(28, 42)(32,44)(33, 45) (35, 46) (39, 47)(43,48)]) = C4 x C2
Ny = Group([(1,2,6,10)(3,7,14,21)(4, 8, 16, 23)(5,9, 17, 24)(11, 18, 27, 34) (12, 19, 29, 36) (13, 20, 30, 37)(15, 22, 31, 38)(25, 32, 40, 44) (26, 33, 41, 45)(28, 35, 42, 46) (39, 43, 47, 48), (1, 6)(2, 10)(3. 14)(4, 16)(5, 17)(7, 21)(8, 23)(9, 24) (11, 27)(12, 20)(13, 30) (15, 31)(18, 34)(19, 36) (20, 37) (22, 38) (25, 40 (26, 41)(28, 42) (32, 44)(33, 45) (35, 46)(39, 47) (43, 48). (1,3, 11)(2, 7, 18)(4, 13, 30) (5, 28, 25)(6, 14, 27)(8, 20, 43)(9, 35, 32) (10, 21, 34) (12, 26, 15)(16, 30, 47)(17, 42, 40) (19, 33, 22)(23, 37, 48) (24, 46, 44) (29, 41, 31)(36, 45, 38), (1, 4, 6, 16)(2, 8, 10, 23)(3, 12, 14, 20) (5, 31, 17, 15)(7, 19, 21, 36)(9, 38, 24, 22) (11, 25, 27, 40) (13, 42, 30, 28)(18, 32, 34, 44) (20, 46, 37, 35)(26, 47, 41, 39)(33, 48, 45, 43)]) = ((C4 x C2) : C2) : C3
Ns = Group([(1,17,6,5)(2, 24, 10,9)(3, 30, 14, 13)(4, 31, 16, 15)(7, 37, 21, 20)(8, 38, 23, 22)(11, 41,27, 26) (12, 42, 29, 28) (18, 45, 34, 33) (19, 46, 36, 35)(25, 47, 40, 39) (32, 48, 44, 43, (1, 6)(2, 10)(3, 14)(4, 16)(5, 17)(7, 21)(8, 23)(9, 24) (11, 27) (12, 29) (13, 30) (15, 31) (18, 34) (19, 36) (20, 37) (22, 38) (25, 40) (26, 41) (28, 42) (32, 44) (33, 45) (35, 46) (39, 47) (43, 48), (1, 2.6, 10)(3,7, 14, 21)(4, 8, 16 23)(5,9, 1 7,24)(11, 18,27, 34)(12, 19, 29, 36)(13, 20, 30, 37)(15, 22, 31, 38) (25, 32, 40, 44) (26, 33, 41, 45)(28, 35, 42, 46) (39, 43, 47, 48), (1, 4, 6, 16)(2, 8, 10, 23)(3, 12, 14, 20)(5. 31, 17, 15)(7, 19, 21, 36)(9, 38, 24, 22)(11, 25, 27, 40) (13, 42, 30, 28) (18, 32, 34, 44)(20, 46, 37, 35)(26, 47, 41, 39) (33, 48, 45, 43)]) = (C4 x C2) : C2
N = Group([(1, 24)(2, 5)(3, 37)(4, 38)(6,9)(7, 13)(8, 15)(10, 17)(11, 45)(12, 46)(14, 20)(16, 22)(18, 26)(19, 28)(21, 30)(23, 31)(25, 48) (27, 33)(29, 35)(32, 39) (34, 41)(36, 42) (40, 43) (44. 47), (1, 6)(2,10)(3, 14)(4, 16)(5, 17)(7, 21)(8, 23)(9, 24)(11, 27)(12, 20)(13, 30) (15, 31) (18, 34) (19, 36)(20, 37)(22, 38) (25, 40)(26, 41)(28, 42)(32, 44) (33, 45) (35, 46) (39, 47) (43, 48), (1, 2,6, 10)(3, 7, 14, 21)(4, ,16,23)(5,9,17,24)(11, 18, 27, 34)(12, 19, 29, 36)(13, 20, 30, 37)(15, 22, 31, 38)(25, 32, 40, 44)(26, 33, 41, 45)(28, 35, 42, 46)(39, 43, 47, 48), (1, 4, 6 16)( 8,10, 23)(3, 12, 14, 20)(5, 31, 17, 15)(7, 19, 21, 36)(9, 38, 24, 22) (11, 25, 27, 40)(13, 42, 30, 28) (18, 32, 34, 44)(20, 46, 37, 35)(26, 47, 41, 39) (33, 48, 45, 43)]) = (C4 x C2) : C2
Ns = Group([(1, 31,6, 15)(2, 38, 10, 22)(3, 42, 14, 28) (4, 5, 16, 17)(7, 46, 21, 35)(8. 9, 23, 24)(11, 47, 27, 39) (12, 13, 29, 30) (18, 48, 34, 43)(19, 20, 36, 37)(25, 26, 40, 41)(32, 33, 44, 45), (1, 17, 6, 5)(2, 24, 10, 9)(3, 30, 14, 13)(4, 31, 16, 15)(7, 37, 21, 20)(8, 38, 23, 22)(11, 41, 27, 26) (12, 42, 29, 28) (18, 45, 34, 33)(19, 46, 36, 35)(25, 47, 40, 39) (32, 48, 44, 43), (1, 6)(2, 10)(3, 14) (4, 16)(5, 17)(7, 21)(8, 23)(9, 24) (11, 27)(12, 29)(13, 30) (15, 31)(18, 34)(19, 36)(20, 37)(22, 38)(25, 40) (26, 41)(28, 42)(32, 44)(33, 45)(35, 46)(39, 47)(43, 48), (1,2, 6, 10)(3, 7, 14, 21)(4, 8, 16, 23)(5, 9, 17, 24) (11, 18, 27, 34)(12, 19, 29, 36)(13, 20, 30, 37) (15, 22, 31, 38)(25, 32, 40, 44)(26, 33, 41, 45) (28, 35, 42, 46)(39, 43, 47, 48), (1, 3, 11)(2, 7, 18) (4, 13, 39)(5, 28, 25)(6, 14, 27)(8, 20, 43)(9, 35, 32)(10, 21, 34)(12, 26, 15)(16, 30, 47) (17, 42, 40) (19, 33, 22) (23, 37, 48)(24, 46, 44)(29, 1, 31)(36, 45, 38)]) = ((C4 x C2) : C2) : C3
Ns = Group([(1,31,6,15)(2, 38,10, 22)(3, 42, 14, 28)(4, 5, 16, 17)(7, 46, 21, 35)(8, 9, 23, 24) (11, 47, 27, 39) (12, 13, 29, 30) (18, 48, 34, 43)(19, 20, 36, 37) (25, 26, 40, 41) (32, 33,44, 45), (1, 2,6, 10)(3, 7, 14, 21)(4, 8, 16,23)(5,9, 17, 24) (11, 18, 27, 34) (12, 19, 29, 36)(13, 20, 30, 37) (15, 22, 31, 38) (25, 32, 40, 44) (26, 33, 41, 45)(28, 35, 42, 46) (39, 43, 47, 48), (1, 6)(2, 10)(3, 14) (4, 16) (5, 17)(7, 21)(8, 23)(9, 24) (11, 27)(12, 29) (13, 30) (15, 31) (18, 34)(19, 36) (20, 37)(22, 38) (25, 40) (26, 41) (28, 42) (32, 44) (33, 45) (35, 46) (39, 47) (43, 48), (1, 4, 6, 16) (2, 23)(3,12, 14, 20)(5, 31, 17, 15)(7, 19, 21, 36) (9, 38, 24, 22)(11, 25, 27, 40) (13, 42, 30, 28)(18, 32, 34. 44)(20, 46, 37, 35) (26, 47, 41, 39)(33, 48, 45, 43)]) = (C4 x C2) : C2
No = Group([(1,31,6,15)(2,38, 10, 22)(3, 42, 14, 28)(4, 5, 16, 17)(7, 46, 21, 35)(8, 9, 23, 24)(11, 47, 27, 39) (12, 13, 29, 30) (18, 48, 34, 43)(19, 20, 36, 37) (25, 26, 40, 41)(32, 33, 44, 45), (1, 24)(2, 5)(3, 37) (4, 38) (6, 9)(7, 13)(8, 15)(10, 17) (11, 45)(12, 46) (14, 20)(16, 22) (18, 26) (19, 28)(21, 30)(23, 31)(25, 48)(27, 33)(29, 35)(32, 39) (34, 41) (36, 42) (40, 43) (44, 47), (1, 6)(2, 10)(3, 14) (4, 16) (5, 17)( ,21)(8,23)(9,24) (11, 27) (12, 29) (13, 30) (15, 31)(18, 34)(19, 36)(20, 37)(22, 38)(25, 40) (26, 41) (28, 42) (32, 44) (33, 45)(35, 46) (39, 47)(43, 48), (1, 2 ,6, )( 7 14 21)(4,8.16,23)(5,9, 17, 24) (11, 18, 27, 34) (12, 19, 20, 36)(13, 20, 30, 37)(15, 22, 31, 38) (25, 32, 40, 44)(26, 33, 41, 45) (28, 35, 42, 46)(39, 43, 47, 48)]) = (C4 x C2) : C2
Nio = Group([(1,31,6,15)(2, 38, 10,22)(3, 42, 14, 28)(4, 5, 16, 17)(7, 46, 21, 35)(8, 9, 23, 24) (11, 47, 27, 39) (12, 13, 29, 30)(18, 48, 34, 43)(19, 20, 36, 37)(25, 26, 40, 41)(32, 33, 44, 45), (1, 17,6, 5)(2, 24, 10,9) (3,30, 14, 13)(4, 31, 16, 15)(7, 37, 21, 20)(8, 38, 23, 22) (11, 41, 27, 26)(12, 42, 20, 28) (18, 45, 34, 33) (19, 46, 36, 35) (25, 47, 40, 30) (32, 48, 44, 43), (1, 2, 6, 10)(3, 7, 14, 21)(4, 8, 16, 23) (5,9, 17, 24)(11, 18, 27, 34) (12, 19, 29, 36)(13, 20, 30, 37)(15, 22, 31, 38)(25, 32, 40, 44) (26, 33, 41, 45) (28, 35, 42, 46)(39, 43, 47, 48), (1, 6)(2, 10)(3, 14)(4, 16)(5, 17)(7, 21)(8, 23)(9, 24) (11, 27)(12, 20)(13, 30) (15, 31) (18, 34) (19, 36)(20, 37)(22, 38) (25, 40) (26, 41) (28, 42) (32, 44) (33, 45) (35, 46) (39, 47) (43, 48), (1,3, 11)(2, 7, 18)(4, 13, 30) (5, 28, 25)(6, 14, 27)(8, 20, 43)(9, 35, 32)(10, 21, 34) (12, 26, 15) (16, 30, 47) (17, 42, 40) (19, 33, 22) (23, 37, 48) (24, 46, 44)(29, 41, 31)(36, 45, 38)]) = ((C4 x C2) : C2) : C3



